Jammu & Kashmir

OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE

M/s Valley Construction

prop.: Sofi Mubashir Hussain R/o: Saloora Ganderbal J&K

Reg. No.: CE/UEED/AAY/Civil/02/2012-13

Phone No: 7006274378

E-mail ID: mubash r 1913@gmail.com

Position of AAA : Accorded Position of T.S: Accorded

7451-57 Dated:-//- 12 -202 5

Advt. Cost: Rs.40.09 lacs Allott. Cost: Rs.31,59 lacs Time of Complt.: 45 days

Construction of Chain Link Fencing around new plant premises and laying and fitting of distribution pipe network for W.S.Scheme

Malpora Tengpora under JJM (Tender Id: 2023_ PHE/234449_4).

Ref: 1. Your on-line tender received in response to this office Fresh E-NIT No: 21/JJM/JSDS of 10/2023 dated: 21-10-2023 S.No: 04

2. This Office Letter of Intent No: 8178-82 dated: 06/11/2023

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, contract for the work mentioned above is here by fixed with you on the following rates, terms and conditions.

Rates:

S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including	Cum	220.00	479.30	105446.00
	getting out excavated earth and disposal of surplus excavated earth as directed: all kind of soil				
2	Earth work in excavation by mechanical means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: all kinds of soil	Cum	1129.30	256.85	290060.71

Officer

Page 2nd Construction of Chain Link Fenging around new plant premises and laying and fitting of distribution pipe network for W.S.Scheme Malpora Tengpora under JJM

5.	Particulars of Items	Unit	Quantity	Allotted Rate(Amount in Rs.
3	Laying and fitting of G.I. pipe (all classes) complete including all pipe fittings 65mm	Mtr	1500.00	80.30	120450.00
4	Laying and fitting of G.I. pipe (all classes) complete including all pipe fittings 50mm	Mtr	1500.00	44.85	67275.00
5	Laying and fitting of G.I. pipe (all classes) complete including all pipe fittings 40mm	Mtr	1200.00	44.85	53820.00
6	Laying and fitting of G.I. pipes (all classes) complete including all pipe fittings 25mm	Mtr 	1500.00	33.70	50550.00
7	Laying and fitting of G.I. pipe (all classes) complete including all pipe fittings 20mm	Mtr	1500.00	22.25	33375.00
8	Laying and fitting of G.I. pipe (all classes) complete including all pipe fittings 15mm	Mtr	2000.00	22.25	44500.00
9	Providing and fixing of MS flanged joints (10mm thick) to double flanged GI/DI pipes including cutting of pipes, Laying of Pipe in pipe Trenches, welding charges, cutting of flanges, rubber gasket, bolts, nuts including testing of joint and all sorts of carriages. Complete Job. 100mm	joint	201.00	1800.00	361800.00
10	Providing and fixing of MS flanged joints (10mm thick) to double flanged GI/DI pipes including cutting of pipes, Laying of Pipe in pipe Trenches, welding charges, cutting of flanges, rubber gasket, bolts, nuts including testing of joint and	joint	150.00	1100.00	165000.00
- 1	all sorts of carriages. Complete Job.80mm	1	l		
11	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete upto 40mm nominal bore	no	95.00	730.25	69373.75
12	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete ABOVE 40mm		30.00	1387.25	41617.50
13	Welding by gas plant including all carriages to and fro Complete as per directions of Engineer in Charge including Testing Of Joints		2500.00	12.00	30000.00
14	in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m. Extra for levelling & neatly dressing of disposed soil completely as directed by		983.40	218.40	214774.56
15	Engineer-in-charge. Providing and fixing D.I. sluice valves Class 1 (with cap) complete with rubber insertions, bolts, nuts, extention rod, joint connector,		2.00	24000.00	48000.00
	supporting pedestal with base plate, top plate and necessary anchoring bolts etc. (the tail pieces if required will be paid separately). Confirming to IS:14846 read with latest amendments.100mm dia class 1			American	

Technical Officer

Page 3rd

Construction of Chain Link Fenging around new plant premises and laying and fitting of distribution pipe network for W.S.Scheme Malpora Tengpora under JJM

S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
16	Providing and fixing D.I. sluice valves Class 1 (with cap) complete with rubber insertions, bolts, nuts, extention rod, joint connector,	No	2.00	17000.00	34000.00
	supporting pedestal with base plate, top plate and necessary anchoring bolts etc. (the tail pieces if required will be paid separately).				
	Confirming to IS:14846 read with latest amendments.80mm dia class 1	/	8	e	R
17	Pumping out water caused by springs, tidal or river seepage, broken water mains or drains and the like.	KI	204.00	167.80	34231.20
18	Providing and laying 75 mm size hand packed stone solling (Quarry) including ramming and dressing including all leads lifts and all	cum	22.50	1320.00	29700.00
	carriages complete.	l	R	e	L
19	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:4:8 (1 cement:	cum	15.00	5202.90	78043.50
	4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	1	e	1	2
20	Centering and shuttering including strutting, propping etc. and removal of form work for Foundations	Sqm	140.00	286.35 2	40089.00
21	Centering and shuttering including strutting,	Sqm	360.00	628.95	226422.00
2.1	propping etc. and removal of form work for Retaining Walls, Plinth Walls	8	l	0	<i>e</i>
22	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:3:6 (1 cement: 3 coarse sand: 6 graded	Cum	150.00	5673.40	851010.00
	stone aggregate 40 mm nominal size)		0	100.00	260440.0
23	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming	Kg	3050.00	120.80	368440.0
	coat of approved steel primer all complete				751215
24	Structural steel work welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel	Kg	553.00	138.20	76424.6
	primer all complete. For GATE AND RAILING	Sqm	356.90	809.90	289053.3
25	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required	oqiii	555.90	309.90	209000.0
	complete as per the direction of Engineer-incharge.Made of G.I. wire of dia 4 mm	0	2 0	2	(
26	Applying priming coat of ready mixed red oxide zinc chromate primer of approved brand and manufacture on steel galvanized iron/Steel	Sqm	356.90	53,60	19129.8
	manufacture on steel garranned non/otect		1		

Officer

Page 4th Construction of Chain Link Fenging around new plant premises and laying and fitting of distribution pipe network for W.S.Scheme Malpace Tenganese and laying and fitting of distribution pipe network for W.S.Scheme Malpora Tengpora under JJM

S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
27	Painting with ready mixed synthetic enamel paint of approved brand and manufacture in all shades to give an even shade on Steel work(two coats or More)	Sqm	356.90	197.80	70594.82
28	12mm Cement plaster finished with a floating coat of neat cement of mix 1:4 (1 cement: 4 fine sand)	Sqm	180.00	283.80	51084.00 (
29	Carriage of GI Pipes 100mm Dia By Mechanical Transport Average Lead 25Kms	Mtr	1500.00	10.16	15240.00
30	Carriage of GI Pipes upto 80mm Dia By Mechanical Transport Average Lead 25Kms	MT	34.70	413.38	14344.29
31	Carriage Of Cement/ Steel By Mechanical Transport including loading, unloading and stacking average lead 10Kms	MT	40.20	248.03	9970.81
32	Carriage Of Sand/ Aggregiates By Mechanical Transport including loading, unloading and stacking average lead 25Kms	Cum	226.56	465.14	105382.12
	Total				4009202.00
	Below 21.20% on all items Allotted Cost			- 10	849951.00
					3159251.00

Rates and quantities checked:

Draughtsman

al Officer

Terms and conditions:

- 01. Total amount of the work should in no case exceed beyond Rs.3159251.00 (Rs.Thirty One Lacs Fifty Nine Thousand Two Hundred and Fifty One only) which includes all taxes, levies etc.
- 02. The work shall have to be completed by you within a period of 45 days failing which the panality under rules shall be imposed upon you.
- 03, Performance security @ 5% of allotted cost i,e Rs.157962.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the NIT.
- 04. An agreement shall have to be drawn by you with the department within a period of 07 days from the date of issuance of allotment, failure to execute such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.

Page 5th Construction of Chain Link Fenging around new plant premises and laying and fitting of distribution pipe network for W.S.Scheme Malpora Tengpora under JJM

- 05. The earnest money amounting to Rs. 80200/= deposited by you in this office as a bid security against the contract vide CDR/FDR/TDR No:264795 dated : 25-10-2023 shall be considered for release once the performance security @ 5% of allotted amount is deposited by you.
- 06. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.

07. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-2017.

Assistant A counts cal officer

al Shakti PHE Division

Sopore

Copy to the:

Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information. i)

District Development Commissioner Bandipora (Chairman DJJM) for favour of information. ii)

- Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of information. iii)
- Assistant Executive Engineer PHE Sub Division Sumbal for information and necessary action. iv)
- M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information V)
- Head Draftsman for information. vi)
- File Concerned. VII)